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QUESTION 1

Substitution method is to use a normal part to replace a suspected abnormal part, so as to achieve the parts of the aim
of locating faults and troubleshooting, can be a fiber optic jumper, a cable, a controller or a cascade modulE.

A. True
B. False

Correct Answer: A

QUESTION 2

Host side report the failure of "IO error or 10 timeout", which of the following aspects can eliminate storage side issues?
(Select three Answers)

A. check storage RAID LUN statem, if it is normal

B. check storage physical hard disk read and write state, if it is normal
C. check FC or iSCSI link state, if it is normal

D. login array user name and password

Correct Answer. ABC

QUESTION 3

About storage network management software, which description is wrong?

A. equipment management can manage storage array device

B. business management, business flow management

C. topology display, visual display device of the current topology connection status
D. DHA service management, hard disk health data/performance data

Correct Answer: A

QUESTION 4
Which of the following statement about the IO load characteristics is wrong?
A. IOPS continuously increase with the increase of data blocks

B. the bandwidth value increases with the increase of data blocks, finally the trend of increase gradually slow, until
leveled off
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C. 10 order is stronger, the performance is better
D. the queue depth, the load pressure on storage is greater

Correct Answer: A

QUESTION 5

Which function is not UltraPath multipath software supported?
A. query version

B. check 100f LUN

C. scanning LUN

D. the host switch

Correct Answer: D
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